m%@ﬁ. Model # 1-305-1 & 2-305-1
H V- Can Tumblers with Timer

The Specialist In Drum Handling Equipment

Parts Diagram for Morse Model 1-305-1 and 2-305-1 Can Tumblers with Timer
Serial Number 322027 to 406367

Double Can Tumblers
have a 2nd Can Holder
(part # 855CPT-P)

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 BASE ASSEMBLY - - NOT SOLD SEPARATELY - - 1
2 1892-P COVER, SIDE 305 SERIES 2
3 835-P COVER, TOP 305 SERIES 1
4 855CPT-P CAN HOLDER, CPT, 305 TYPE 1
5 960L-1-P MOTOR, 1/4HP, 1PH, 48, RB 1
6 950-P SHEAVE, 2-1/4 X 1/2 BORE, 305 1
7 1634-P NUT, 5/16-18 WHIZ LOCK 4
8 215-P HHCS, 5/16-18 X 5/8 GR2 4
9 2465-P CONNECTOR, WIRE, 2-SCREW, 1/2 1
10 4235-P CAP, PLASTIC, DRIVE SHAFT 1
11 840-P TIMER, 0-60 MIN., 305 SERIES 1
12 4736-P POWER CORD, 8', 14/3 SJO 1
13 2706-P CORD, TIMER, 305-1 1
14 6072-P WEATHERPROOF BOX, TIMER, 305 1
15 193-P SCREW, TEK, 12-14 X 3/4 3 PT 2
16 5838-P CORD GRIP, M20, .24-.47 CORD 1
17 6009-P SCREW, 12-24 X 7/8 4 PT 201 16
18 1570-P WASHER, 5/16 USS 7/8 OD 4

morsedrum.com
Copyright 2022 - Morse Mfg. Co., Inc. Form PL 305-1 (322027 to 406367) (Updated 22 Sep, 2022)



